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General Instructions to the Candidate : 

1.  This Question Paper consists of 47 objective and subjective types of 

questions. 

2.  This question paper has been sealed by reverse jacket. You have to cut on 

the right side to open the paper at the time of commencement of the 

examination. Check whether all the pages of the question paper are intact. 

3. Follow the instructions given against both the objective and subjective 

types of questions. 

4.  Figures in the right hand margin indicate maximum marks for the 

questions. 

5. The maximum time to answer the paper is given at the top of the question 

paper. It includes 15 minutes for reading the question paper. 
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I. Four alternatives are given for each of the following questions / incomplete 

statements. Only one of them is correct or most appropriate. Choose the correct 

alternative and write the complete answer along with its letter of alphabet. 

   10 × 1 = 10 

 

1. In Group-A list of leaders and in Group-B their designations are given. 

Identify the group that matches.  

  Group-A Group-B 

  (a) Jawaharlal Nehru (i) First President 

  (b) Dr. Rajendra Prasad (ii) First Home Minister 

  (c) Sardar Vallabhbhai Patel (iii) Chairman of State Re-organizing  

      Commission 

  (d) Justice Fazal Ali (iv) First Prime Minister 

  a b c d 

 (A) iii iv i ii 

 (B) iv i ii iii 

 (C) i ii iii iv 

 (D) ii iii iv i. 

2. The leader who gave the popular slogan of ‘Peace, Food and Land’ among the 

following is 

 (A) Joseph Stalin (B) Mussolini 

 (C) Mao-Tse-Tung (D) Lenin. 

3. The terrorist attack on Hotel Taj in Mumbai on 26/11 has strained the 

relations between  

 (A) India — Nepal (B) India — Myanmar 

 (C) India — Pakistan (D) India — Sri Lanka. 
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4. 24th October, 1945 is a significant day because 

 (A) United Nations Organization ( UNO ) was established  

 (B) Commonwealth of Nations was started 

 (C) European Union was formed 

 (D) ‘SAARC’ Regional Organization was formed. 

5. The act introduced by the government in 1976 to put an end to the labour 

discrimination is 

 (A) Employment Guarantee Act 

 (B) Untouchability Prohibition Act 

 (C) Child Labour Prevention Act 

 (D) Equal Wages Act. 

6. The exact matching of the marked places in the map is  

 

 (A) 1 — Kosi,  2 — Narmada,  3 — Hirakud 

 (B) 1 — Nagarjuna Sagar,  2 — Narmada,  3 — Kosi 

(C) 1 — Narmada,  2 — Kosi,  3 — Nagarjuna Sagar 

 (D) 1 — Kosi,  2 — Nagarjuna Sagar,  3 — Narmada. 
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7. The term ‘Golden Revolution’ denotes the progress achieved in the field of 

 (A) Gold Mining 

 (B) Horticulture 

 (C) Dairy Farming 

 (D) Fisheries. 

8. The book ‘Planned Economy for India’ was written by 

 (A) Sir. M. Vishveshwarayya 

(B) Dr. M. S. Swaminathan 

(C) Dr. Verghese Kurien 

 (D) Dr. Norman Borlaug. 

9. The type of bank account in which the deposited amount cannot be 

withdrawn before the maturity of the term is 

 (A) Savings Bank Account 

 (B) Current Account  

 (C) Recurring Deposit Account 

 (D) Term Deposit Account. 

10. Mr. Pratap Reddy is associated with  

 (A) The Apollo Hospitals 

 (B) The Reliance Company 

 (C) Wipro Technologies 

 (D) Biocon Ltd. 

II. Answer the following questions in a sentence each :  14 × 1 = 14 

11. What is meant by ‘Kalachakra’ ? 

12. The Minto-Morley Reforms of 1909 led to the partition of India. How ? 

13. Which European Nation ruled one of the parts of India for a very long 

period ? 

14. Why did Government of Karnataka form Dr. D. M. Nanjundappa 

Committee ? 
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15. The functions of the ‘Trusteeship Council’ of UNO has decreased. Why ? 

16. What does the Article 24 of our Constitution declare ? 

17. Why did the Government of India introduce the ‘Prohibition of Pre-natal 

Gender Determination Test Act’ ? 

18. Which is the highest mountain peak in South India ? 

19. Shifting cultivation has decreased in India. Why ? 

20. Why is petroleum called ‘Liquid Gold’ ? 

21. Which is the ‘Silicon City of India’ ? 

22. What is meant by ‘Post-Harvest Technology’ ? 

23. What is the duration of financial year in India ? 

24. What is the main purpose of establishing ‘District Industrial Centres’ by the 

Government ? 

III. Answer the following questions in two sentences each :  15 × 2 = 30 

25. What are the effects of the battle of Plassey ? 

26. What are the terms of the ‘Treaty of Srirangapatna’ ? 

27. What are the contributions of Raja Rammohan Roy to the Indian Socio-

Religious reforms ? 

OR 

 What are the reforms propagated by Sathya Shodhak Samaj ? 

28. How did Nazi ideology destroy Germany ? 

29. What are the measures taken by the Government to improve the status of 

women ? 

30. What are the effects of terrorism ? 
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31. Explain the nature of a riot. 

32. “Indian agriculture is gambling with the monsoons.” Why ? 

33. What are the effects of soil erosion ? 

34. How can forest be conserved ? 

35. How is Remote sensing technology helpful in tackling natural disasters ? 

36. How can coastal erosion be prevented ? 

37. What are the effects of people migrating from rural to urban areas ? 

38. Per capita income cannot be a true measure of development. Why ? 

39. ‘Environmental pollution is increasing due to Globalization.’ Justify. 

IV. Answer the following questions in six sentences each :  6 × 3 = 18 

40. “The First War of Indian Independence – 1857 did not bring expected 

results.” Give reasons. 

OR 

 “The British rule had major impacts on the field of Indian education.” 

Justify. 

41. Which are the factors influencing India’s foreign policy ? 

OR 

 What are the reasons for our strained relationship with China in recent 

days ? 

42. How is the government trying to solve untouchability ? 

OR 

 What are the remedial measures to solve the problem of unemployment ? 
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43. What are the problems faced by Road Transport in India ? 

OR 

 What are the factors that influence the location of industries ? 

44. Explain the role of Panchayat Raj institutions in rural development. 

OR 

 Explain the importance of public finance. 

45. What are the benefits we get by opening a bank account ? 

OR 

 What are the steps to be followed while getting an insurance policy ? 

V. Answer the following question in about eight to ten sentences : 4 

46. Explain the role of Bal Gangadhar Tilak in the Indian freedom movement. 

VI. 47. Draw an outline map of India and mark the following : 1 + 3 = 4 

 a) 23 2
1 o

 N. Latitude 

 b) Utkal Coast 

 c) Tungabhadra Project. 

 

 Alternative Question for Blind Candidates only : (In lieu of Q. No. 47) 

 What are the uses of Himalayas ? 4 
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